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3,595,200
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(600) Abei4o! (S5 &)
o8 & ==
3+BEH L ANHY Sof
400,000& X100& 40,000
CSADHSH G2 S4B
130,000& X100& 13,000
661
JIEreI el ol
003
JlEtaS2 4
S4BA 2242
8,00021 X300 2,400
S4TA EZLA 22E
7,80021X300% 2,340
22BN UUBA 242
6, 20021 X300 1,860
Oe 2 SOl DHUE (16,699)
- 13m0 31,9002/X400% 2,760
- 20m 49,5002 X0 1,980
. 25M 75,9002 X0 1,518
- 40m 123,200 X2 246
- 50mm 195,800& X1& 195
HEHE HBI DA
31,900& X300 9,570
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JIEreI gl ol
201883 42X
970,000,000& X 0.02 19,400
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24919 401




(600) A ==21 &h:(670) A2 ME:(671) OIX4=2 =:(001) Gl20I X< Y M)
s = Ol & oA dE T HunsZ _ _
i3 ST St /nll' = ES
oA (A) o % 0 Ao (8) (A-B) g /| =
671
0l Xt=z=2! 60,000 60,000 0
001
0l 20l Xh==<! 60,000 60,000 0
Ol S0l XH2=¢!
60,000,000& = 60,000
672
Bt H A Q= A0l 79,500 70,710 8,790
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S = PN =
5,300,000,000&X0.015 = 79,500
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J|EF & 9| A o 2,500 5,000 A2,500
001
JIEFQl & 0! 2,500 5,000 A2,500
2O ==& (SK,KTF)
2,500,000& = 2,500




2(100) X2 &:(170) A=2Ad0=22 ME:(171) AIE2E24+2 S:(001) AE2E=222 (Gt &)
= = 0l AF oH dET HnsZ = =
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HoEeAEe S (A) o £ 0 a1 04 () (A-8) g =
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170
JE=L=TRe P= ] 262,500 1,559,500 A 1,297,000
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A2 AQ 232,500 1,558,500 A 1,326,000
001
AEES A 232,500 1,558,500 1,326,000
O Z=SAU HE AREAE JAXNREEZ
600,000& X200& = 120,000
O U2 AR
750,000&X5,000m X0.03& = 112,500
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Bl LB R0l 30,000 1,000 29,000
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Ero| 1|21 A o x 2 Aol 30,000 1,000 29,000
O S=FAXNE MBS AS(ZH])
30,000,000& = 30,000




